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F (x) =
1

2

m∑

j=1

(fj (x))2 , 687�9%7;:
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fj : R

n → R
')���

j = 1, . . . ,m
�	��� � /!����� ���;ÿ�����ÿ����������! ���!" ���8*

��ÿ&���4�	����� ')��ÿ��������;ÿ�� ��ÿ��
m ≥ n. #  ��,� � �� ���� � �������	��')�����2���4�;���%�;ÿ 687�9%7;:��ÿ������������Xÿ��;ÿ�����ÿ����	����� � �%$�������ÿ�1 �$ÿ�� ���	���	��������� ���
����� � �����;ÿ ��������������� 9&!�������	���  ������!��ÿZÿ��������������	� ��ÿ��	�! #�����-��ÿ�� ��� �������!'�� ������ÿ  ���$��.� ����ÿ �	����� ���

����$#����� �)(�������ÿ�� ��ÿ�� ���	������� ����ÿ���� �!'�� ���%�;ÿ �	��1������ �� ����-�* ,�,+ �������%����ÿ�12�� ��
���3�����4�	�
�
���������������2��ÿ

F
��ÿ�� �%��� �������%$	� ���%$���� 9.- ������� ������ÿ�1 �� �� ��ÿ����%$#�������	�

�������3�;ÿ���ÿ����
fj

�	'
F

��ÿ&��� � )
� ����	0/���59��� �����$)
f : R

n → R
m

���)$�ÿ���� �1 
f(x) 2 6 f1 (x)

�
f2 (x)

�
. . .

�
fm (x) : T �&/ � ����ÿ ����� /! 1 �� �� ��� �������	��')����� �	'

F
�	' ����ÿ � ��3���� �� �� �����	�
� �������	����� ������������� ���	������� ��� �����%$&� �� ���ÿ 1���ÿ������	�

��ÿ����;ÿ��
�����	��ÿ���� ����ÿ���� �!'�� ���%�;ÿ ��������������� 9%#  ��,�������%$ � ���%$&��� �	'
F

����ÿ � �
�,+ ������������� �"ÿ ���������(�	' �� ��.4��	�������4��ÿ �	'

f
�#/! ����  ,������ ��

m× n
� � �����5+ �	'

$����
� ���	�
���4�	� �������%$	�;� � $&���-���)$�ÿ���� �* 
J(x) = [∂fj/∂xi]j=1,2,...,m, i=1,2,...,n

. 687�9 � :
6 �  ���$&�.�� ���ÿ

∇F (x) =
m∑

j=1

fj (x)∇fj (x) = J(x)T f(x), 687�9 7&:

∇2F (x) =
m∑

j=1

∇fj (x)∇fj (x)T +
m∑

j=1

fj (x)∇2fj (x)

= J(x)T J(x) + Σ(x). 687�9 8�:
þ�ÿ � ��ÿ1 �	����������� ���%�;ÿ������%� ��� � ������������� ��� ���	�������4� ��� �� ��9$����
� ���	�
���4�	�

�������%$ � ���%$&��� �� �� �2� �03�� ��� �� ��:4��	�������4��ÿ � � �����5+
J(x)

�,+ ���������%���5 9;#  ������������� �3� ������� ��� ���	�������4� ��� �� �� 1	� � ������ÿ��
∇F (x)

�	� /!���%������ÿ ��ÿ ')����� ���4�
687�9 7&:+9=< �;/ ��$������(�� �� �����
����ÿ������%$�� ')��� ������� �	' �����	�
��������� ����� ��������������� ���
�� �� � �* >3�ÿ��;/!��ÿ�1 �� ��:4��	�������4��ÿ / � ����ÿ ��������� ��� �� ��?$����
� ���	�
�2� '!�� ��
< �������4��ÿ ∇2F (x)

')��� ')����� 9A@ �������0$������ �� �� �������
J(x)T J(x)

��� �	' ����ÿ
������� ����� ���
� ��ÿ&� �� ���ÿ �� �� �������;ÿ�� ������� � ������ÿ ������� ��ÿ 687�9 8�: � ���%�� �����3�����	����� �	'.ÿ����	�8* ����ÿ����	��� �B �	' �  ��.���#������ÿ����	�-�� ��.������� �����;ÿ ���-� �����	����� �	'
��� �	�����������������	��� 9>@ ���
���	��1������ �� �� � ')���Yÿ��;ÿ�����ÿ����	� �����	�
�2�������	����� �,+ �����	�%�
�� ������ �
���������������	��������� ���
������� �	'(�� �� < �������4��ÿ 99#  ��) �	��� ���	����� �;ÿDC ��/(*
���;ÿ ��ÿ�� �����	��� *BC ��/-���;ÿ �	�������&�	�  ���� 9E# / �,/(�����F3�ÿ��0/Tÿ $	�	���4��ÿ&���.��ÿ����������
�� ��HG �	�����8*BC ��/-���;ÿ������� ��#� 6�I ��ÿ�ÿ�������ÿ��?J#�  �ÿ��	� ��� 687�KMLM7&: �*N.�����! 687�KMK0K&:
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��ÿ�� 6 ���%')� 687�K��0L&:�: �$ÿ�� �� ���� ��$���ÿ#�3����1 * @ �	�������	��� � ������ ��#� 6�I ��ÿ�ÿ�������ÿ��J#�+ �ÿ��	�3��� 687�KMLM7&: ��ÿ�� @ ����� 687�K��0L&:�:+9 J#��ÿ����2�� ������ ������ ��#���aÿ���1�������� �� ��
�������;ÿ�� ���	�
� �	' �� �� < �������4��ÿ � � �����5+ ���� �� ���#���	� ���;ÿ&$&����1���ÿ���� ��ÿ��	�! #����� ���8*
� �	�������� ���� ���;ÿ����%�����;ÿ��-')��� � ��* �����	����� ����� ���;ÿ&$�����1���ÿ���� ')��� ����ÿ����	�!��ÿ�� '������
�������������	����������������� 6�� ���������4�	�� 7�� 9 � 9 � ��ÿ�� #  ���������� 7�� 9 � 9 � ��ÿ I ��ÿ�ÿ�������ÿ��J#�+ �ÿ��	�3��� 687�KMLM7&:�:+9! ��� �� ��(�	�� ���� ����������������� �� ��(���;ÿ&$�����1���ÿ����!�3�����������
��*
����ÿ����	� 6�#  ���������� 7�� 9 � 9%7 �	' I ��ÿ�ÿ�������ÿ��?J#�+ �ÿ��	�3��� 687�KMLM7&:�:+9 - ÿ��	�� ��������4�	���
��� �� �� �
����������������� �����	��� *BC ��/-���;ÿ ������ ������ 9 J#��ÿ������� ����������

J(x)T J(x)�	'
∇2F (x)

��� ��$	�	���4�	���%�	� �;ÿ��! �� �� �������;ÿ�� ���	�
�2�	' �� �� < �������4��ÿ � � �����5+
��� �	�������
+ ��� � ����� �1 �� ��2� � �����5+

Rk 6 J(xk)
T J(xk) + Rk : �5/! ����+ ��� ���#*

��� ����� �1 ,�����	��� *BC ��/-���;ÿ,')�����2���4� � 9 J#����� ����')������ÿ������ ��ÿ �� ����!����� �	��ÿ,�	���
I ��ÿ�ÿ���� ��� �	� 9 687�KML 7;: � G.�����
��ÿ�� @ �������� 687�K��"�&: � @ �
N.���0/Tÿ 687�K�� � : ��ÿ��C �0'��	������ 687�KML#�&:+9 J#��ÿ���� �  �� ���3��� ����ÿ�1 ')����� ���4�	� ')��� �� �� � � �����5+

Rk

� ��ÿ
�����	���������	�
���� Ýÿ��	� 1���ÿ������ ��� � �	��� � � $&� ���)$�ÿ��%��� � � ����������� ��ÿ�� �� �� �����	���  
���������������;ÿ /(�������:ÿ��	� � � � ����������ÿ&� ���������������;ÿ ')���

F
�	�%� ��������� �����	���;ÿ��	����� ���

���)$�ÿ��.��� ��� ����ÿ�1 ')����� ���4�	�!/! ����  �����������
$&�	� /!�%�� ���� �(���;ÿ����%�����;ÿ����#� �	��� � � $&�
���)$�ÿ��%����ÿ������ �	���;ÿ�1 �� ��.�%������� ���%$�� �����#������� 9 - ��� ��$���ÿ�� ����1 * @ �	�������	��� � ���(�
$&���� ������������� �����%���%$�� ���)$�ÿ��%��� �����������������;ÿ �	'�G �	�����8*BC ��/-���;ÿ5���%�
��� �����	���;ÿ��;*
�����2���,�,+ � ����� �� �� � ���	���2������ ����
�������;� ��� � �����%���%$��2���)$�ÿ��%��� �����������������;ÿ�� �	'
G �	�����8*BC ��/-���;ÿ / ����3,������� �����! 9 J#����/ � ������� ������� ��ÿ � ���
� � ��ÿ��  ���*ÿ���ÿ#*����� 6 � �#�M7&: � ���+ ������ �����������	�
��� �� ��$� ��$&��ÿ�� ����1 * @ �	�������	��� �(�������%������ÿ&� �;*
�����;ÿ,�	' 6 ���%')� 687�K��0L&: 6 � �����	�����,�������
�
* ����1����;ÿ,�
����� ����10 : �����2����ÿ���� /!�%�� �
�����	��� *BC ��/-���;ÿ �����  �ÿ�������� 9&% ��� �	��� /(�	� ��� 1���ÿ������ ��� ��� �����%���%$�� ���)$�ÿ��%���
�����������������;ÿ � � �����5+ � ��ÿ � ' �	�+� �	���!'���� ')�	���

LT L
� ��� �;$������������ � � �������������

����ÿ�1����4�	���%�  �	'
JT J

��ÿ�� ��� ��� � �	��ÿ ��* ����� ��������ÿ����	� ���;ÿ&$&����1���ÿ���� /! ���ÿ �	�#*
��������� ��� ��������������� /! ������

Σ(x)
���2�� #������������� �$ÿ�� �3�����%���%$&� ���)$�ÿ��%��� � �

�� �� ������� �����;ÿ5�
x∗ 9 þ�ÿ �� ���� ���;ÿ&���,+#��� / �  ��0$�� ������������� � / � �
� ���������������,��ÿ��

' �	��������� '���� �����	��� *BC ��/-���;ÿ ���3��� ����� ')��� �� �� � � �����5+'� �&�� ���������ÿ ����ÿ��	����� �* 
#  #�3�(� ��ÿ�� #  #�3� - � /! ����   ���$�� �����0$���� ��� �3��$&���� ��������������')��� 9:#  ����� ��� �����!')���

Lk

�	��� �	�-')�����%�0/!�*)

Lk+1 = Ak +
Aksk

a2k

(√
a2k

a1k

wk − AT
k Aksk

)T

687�9,+�:
/! ������2�� �� � � �����5+

Ak

��� ���)$�ÿ���� �* 
Lk + J(xk) − J(xk+1)

')��� #  #�3� -')�����2���4�.�$ÿ�� �1 
Lk

')��� #  #� �&�,')�����2���4� 9 a1k

��ÿ��
a2k

�	���!�����	�4�	�������)$�ÿ����
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�1 
a1k = sT

k wk

��ÿ��
a2k = sT

k AT
k Aksk

� /! ������
sk = xk+1 − xk, 687�9 �&:

wk = zk − J(xk+1)
T J(xk+1)sk 687�9,��:��ÿ��

zk = yk = ∇F (xk+1) −∇F (xk) 687�9 L&:���
zk = vk + J(xk+1)

T J(xk+1)sk. 687�9 K&:
#  ��.$&��������� vk

���-1��%$���ÿ �1 
vk =

(
J(xk+1)

T − J(xk)
T
)
f(xk+1).

#  #� � - ��ÿ�� #  #�3� � ��� ��� ����ÿ�1(')�����2���4� � ')���
L
�������
')����� �� �� ����ÿ���� � *

'�� �����;ÿ5��/!�%�� .������� ����� ���
Lk+1

�0�	' ∥∥∥(J(xk+1) + Lk+1)
T − (J(xk) + Lk)

T
∥∥∥

F��ÿ�� �	' ∥∥LT
k+1 − LT

k

∥∥
F

�������3�������%$&���5 ��
� �	�� ����� "
����� ���
LT

k+1h = wk

��ÿ��
Lk+1sk = h

�.')��� ��ÿ1 ��ÿ 3�ÿ��0/Tÿ
m
* ��������ÿ������;ÿ��	� $����������

h
� �����  �� �� �

h
T
h = sT

k wk.
þ�ÿ �� ���� ���;ÿ&���,+#� 6�� ���
� � ��ÿ��  ���*ÿ���ÿ������ 6 � �#�M7&:�: � �� ������#*

��� ����ÿ�1 ')����� ���4�	��/(�����,������������� ��ÿ������2�� �� ���;ÿ����%�����;ÿ�� �� �� �
sk

��ÿ��
wk��� �����
'  

sT
k wk > 0

��ÿ�� �� �� �
Aksk 6= 0

')�	� �	�%�
k.

#  �� ���#��� �3����ÿ�$�����1���ÿ����.��ÿ��	�! #����� �� ���������ÿ ����������ÿ&����� ')������ ��!' �	��������� '����
�����	��� *BC ��/-���;ÿ ')����� ���4�	� �������-$����� /(������3�ÿ��0/Tÿ,���������%���(�	'�� ���� #����ÿ,��� �	� 9
687�K��07&: ��ÿ�� I ��ÿ�ÿ��%�-��ÿ�� @ ����� 687�K���8�:+9 þ �(�������	����� �;ÿ��� �� � ����ÿ������ �������+*
��������� ���%�;ÿ ������� ���
�  �	' �� ��.����������ÿ����

{J(xk)
T J(xk) + LT

k Lk}
�	' �	��������+ � *

� � ������ÿ��!���
∇2F (x∗)

�$ÿ�� �;ÿ �� �� ��* ����ÿ����	�!���;ÿ&$&����1���ÿ����2�	'
�� �� ����������ÿ����
{xk}

���,�� �� ����ÿ���� �!'����
x∗ 9  ��� �� �� ���03	� �	'-����������������ÿ�������� / � ��ÿ����������

 ������ �� �� � �	��ÿ �� ������������ 9 � ��� D
� �2��ÿ ���3��ÿ ��ÿ�� ���;ÿ&$��,+ ����������� �	'

R
n�� �� � ���;ÿ&� �	��ÿ��

x∗ 99#  �� �	��������� �����;ÿ�� � �	��� ��� �����0$����� ����� ������������ �	���
�� ��.')�����%�0/!��ÿ�1 )
�����	� #  ������ �,+ ���
� � �����%���%$��.���;ÿ��
� ��ÿ&��� ξ1, ξ2

��ÿ��
p
�����  �� �� �

∥∥∇2F (u) −∇2F (x∗)
∥∥ ≤ ξ1 ‖u − x∗‖p



� �?� � ������� �
�����M�
� � � ��� � �
�����	��

���
� �	�
��� � � �B�
���5� ����� �����1�
�B����� � �����5��
 � +

')���!��ÿ* 
u
�"ÿ

D,
��ÿ��
‖J(u1) − J(u2)‖ ≤ ξ2 ‖u1 − u2‖

p

')���!��ÿ* 
u1

��ÿ��
u2

��ÿ
D.

����� �
∇2F

���-�� #������������� ��ÿ��,� �����%���%$��.���)$�ÿ��%��� � �
x∗.

�������
	��
� ��� ��� - ,�� � �$)
�����^�+���×�������X���x	��r��)��x���x	�� �J-������ ��1 1V� /�'�'������� � ���j� � �"!�� �)/
��'x�����$�`�Z-#!%$�1����x	é-#!"��1Z��) �?�v�������'&=�
	�6)(r���2� � ���^����)��+*
Lk, �E/�'�	������
	 ,.-"/ �$)0�E/E5"�Ý-1$�62��1�743 � ��)
�

zk

���?!��+����� ,.- -1$�665�1��$)Z-1$�627�1;6�(r���� � �a���98�/����z� �
{xk}

, ��!����z��)*�����
	 ,.-

xk+1 = xk −
(
J(xk)

T J(xk) + LT
k Lk

)−1
J(xk)

T f(xk). 687�9%7��&:
,�� ���`7 / �$)b��� -

r ∈ (0, 1)
7Y� � ��)
� �:*;�����2'������+���+���O� �$�`���������+�

ε(r)
���x	

δ(r)
�)/�� � � � ���?� /

‖x1 − x∗‖ ≤ ε(r)
���x	

‖B1 −∇2F (x∗)‖F,M ≤ δ(r),���x	 � /
Σ(x∗)

��� �é� - �;�
����)����Y'������+���+���O	��'&9���+���<�^����)��+*$7Y� � �Z���98�/����z� �
{xk}

���%3=��5Õ5(	��'&9�z�
	X���x	�� �$������)�!�� �%8�>�5��+�z�
��)�5 - ���
x∗

39�+� �
‖xk+1 − x∗‖ ≤ r ‖xk − x∗‖ , k ≥ 1.

��/E)�� � ��)0�X�$)
� 7V� � �Z���98�/����z� � �
{‖Bk‖}

7 {∥∥B−1
k

∥∥} 7 {∥∥∥B#

k

∥∥∥
} ���x	

{∥∥∥∥
(
B#

k

)
−1

∥∥∥∥
} ��) �:/E��� / �$)0�J5 -�, ��/E�x	��
	&���x	 � � �=�^����)��+*

Bk+1

�v�������'&=� �
� � � , ��/E�x	��
	Y	�������)����$)*�������$�V'x)
� '���)�� - 39�+� � )
� ��'�� ���(���

∇2F (x∗)
7>39�+� �

Bk+1!��+����� ,.-

Bk+1 = B#

k +
wkw

T
k

wT
k sk

−
AT

k Aksks
T
k AT

k Ak

sT
k AT

k Aksk3 � ��) �
B#

k = J(xk+1)
T J(xk+1) + AT

k Ak���x	
Bk = J(xk)

T J(xk) + LT
k Lk.

�������
	��
� ���?��� - ,�� � �$)
���A@P�+���×�������X���x	��r��)��x���x	�� �J-������ ��1 1V� /�'�'������� � ���^� � � � - '��$� � � ��� � � / ,�� � �$)
���B$�62$ � �$5"	�6 ,�� ��� � � � ���98�/����z� �
{xk}!����z��)*���c�
	 ,.- -1$�62$���1X� �$������)�!�� ��8�>��)/�'���)�5��+�z�
��)�5 - ���

x∗
7�� � ���=��� 7

lim
k→∞

‖xk+1 − x∗‖

‖xk − x∗‖
= 0.



� �������	�
�	����
����������
�	�����
�������������	�
�	�����

þ�ÿ ����� ���4�	��1�� * �����	�����	����������� ������ÿ����;�%� ��� ������� �����	���������	����� ��������� ��� �� ��
1����	������ÿ&�

∇F (x)
�������������! ������ÿ�1 ��������� � � �����;ÿ��	�������  �ÿ���������� 6 ����� �  ��	� �����

� �	' C ���������	� ��ÿ�� 6 ����1� �� 6 � �#�#��:�: �� ���ÿ ��� ��������� ��� �� ��:$����
� ���	�
���4�	�
�������%$ � ���%$&��� 687�9 � : �������	��� �����! ��� ')�����

J(x)T f(x)
')����� 687�9 7&:+9 J#��ÿ����	� ')����� ������ �����������������&/(� ���Yÿ��	�( ���$��.�	��������� ���

J(x)
��/(� ����ÿ
ÿ��	�(�,+ �������%���� ��

���3�����4�	� �����	�
� �������	����� �
���������������	� ��ÿ�� �� �������')����� �� �� �	��1������ �� �� �� ���������ÿ
�������3������� �������0ÿ��	� �	�����! 9

- � ������� ���;ÿ��
�����	��ÿ���� ��� �������!'�� ���%�;ÿ ���������������  ���$�� ���#"
�������%$�� ')��ÿ��+*
�����;ÿ�� �	'(�� ���')����� 687�9%7;: � �� ���� ���	� ��� �	����� ��� �,+#����ÿ�� �� ����� ������� �	'(�� ��
�
����������������� ��ÿ��.' �	��������� '���� �����	��� *BC ��/-���;ÿ.�����  �ÿ���������� ���!����ÿ��������	��ÿ���� �������#*
������� 9 þ�ÿ ���	�
���������4�	������ �� ' �	��������� '����,')�����2���4�	� �	���:ÿ��0/ ������� ��� �	��������+ � *
� � ���2�� �� ��������� �	'(�� �� � �	1�����ÿ�1��4��ÿ < �������4��ÿ � � �����5+ /! ����  ��ÿ&$����%$&�2�� ��
�������;ÿ�� �������%$	� ���%$���� ��ÿ ')����� �;���%�;ÿ �	' �� �� �������������	� ')��ÿ��������;ÿ�� ��ÿ�� �	' �� ��
���;ÿ��
�����	��ÿ&�-')��ÿ��������;ÿ�� 6 ����� �������.����� �	�����(��ÿ J#���������;ÿ 7&:+9

# �03���ÿ�1 ��ÿ���� �	��������ÿ�� �� �� ������������� �	'.�� �� ���	' � /-�	��� ���	� 3 �	1	� � %�� %*.��ÿ ��ÿ&�����������8* � ���"ÿ&� ���#����')��� 1���ÿ������	� 6 �����#�	�� : ÿ��;ÿ�����ÿ����	� ��� �������!'�� ���%�;ÿ
��������������� *��� �� �������3������� �,+#����ÿ������;ÿ,/!�����5�3� ��ÿ��	�! '���� ��ÿ�� �������%������ÿ&�����
��ÿ,� ����������� �(��ÿ&�����������8* � ���"ÿ&�(')���	����/ ����3 ���;ÿ&���,+#� 9

6 �!���;ÿ�����������ÿ��0/ �� ��!������������� �	' ����ÿ��%���!'��"ÿ�1 �.����� �	' �������	�����Xÿ��;ÿ#*
����ÿ����	� ')��ÿ��������;ÿ��������#"
��������� ���;ÿ��
�����	��ÿ&��� 9 þ�ÿ � 1���ÿ������	��')����� �	�� �� �������������
���

����ÿ���� �!'��
x∈Rn

F (x) ≡
1

2

m∑

j=1

(fj (x))2

����� "
�����!���
b ≤ h(x) ≤ b + r,

l ≤ x ≤ u, 687�9%7�7;:
/! ������

hk : R
n → R

')���
k = 1, . . . ,m

�	��� �8/!����� ���;ÿ&����ÿ����������! ���!" ������ÿ#*
���4�	����� ')��ÿ��������;ÿ�� 9 r

��� �� ��2$���������� �	' ����ÿ�1����.�;ÿ �� ��2���;ÿ��
�����	��ÿ����
h(x)

�
u��ÿ��

l
�	��� �  �� $������������ �	' �  �� ����� ��� ��ÿ�� ���0/ ��� � ����ÿ���� �;ÿ �� �� $ �	���4�	�������

�������3�������%$&���! ��ÿ��
b
��� �	����������� ���,� ����$�ÿ��%���2�����	� $���������� 9�� ��������ÿ����.�	'

�� �� $������������
r
�
l
��ÿ��

u
�	��� �����	�(ÿ���� � ����� �����#"
����� ��� �� �� ')���%���0/!��ÿ�1 ������� *

� � �����;ÿ��*)
0 ≤ rk ≤ ∞; −∞ ≤ li, ui ≤ ∞

')���
k = 1, . . . ,m

�
i = 1, . . . , n.

� �;ÿ��
�����	��ÿ&���.�	'��� �� ')�����
b ≤ h(x) ≤ b + r

�	���2����ÿ��	����� �1 ����ÿ�1��2���;ÿ#*
�
�����	��ÿ&��� 9 6  ���ÿ ����� ��� ��ÿ�� ���;/ ��� � ����ÿ���� �;ÿ �� ��

x
$ �	���4�	������� ��� ÿ��	�



� �?� � ������� �
�����M�
� � � ��� � �
�����	��

���
� �	�
��� � � �B�
���5� ����� �����1�
�B����� � �����5��
 � �

�,+ ���
��� �� �� $����������
x
���(���;ÿ�������������� ')����� 9 � �����	���%�  ���;ÿ��
�����	��ÿ&���-�	��� ������� �����

�	�!����ÿ�1�� ���;ÿ��
�����	��ÿ&���(/!�%�� 
r = 0.

#  ��(�	��1������%�� ��  ���������ÿ ����������ÿ&����� ��� � ���	�
���������4�	� $����������;ÿ �	'�����ÿ�������� ���
��ÿ�� J# ���ÿ�ÿ�� 687�KMKMK&: �	��1������%�� �� ')���jÿ���ÿ�����ÿ����	�-�����	�
� �������	����� ��������������� 9

#  ���� �	��1������ �� �� ��� ���	�%����� ��ÿ �+� / �
����� , 5��P�+������)����$)�>�'��$�+��� �X��� � �v	 9?#  ��������� �+� / �
����� , 5�� ����')��������� �� �� ' �	������ �� � ������� �	��')���	�������%��� �B 2����ÿ��	�(���������������
�* �� �� �	��1������ �� �� � �-�� �� �3��1���ÿ�ÿ���ÿ�1��	�%�� �����1� ,�%�!���-��ÿ ')��������� �� �������1� ���� �
�� �� �����#������� 9�#  �� ������� �+������)����$)�>�'��$�+��� ����')����� ��� �� �� ' �	�+� �� �� � �� �� ���4�	� 3
$	�	���4�	�������-�	���.��������������� ��� �3� �3�����%���%$&�.� �-�� ��.�3��1���ÿ�ÿ���ÿ�1 ��ÿ��,� �	��ÿ&� �	�"ÿ����
�	�(��� 9 % �  ����(��ÿ������������8* � ���"ÿ��������� ��#���( ���$&� � ����ÿ,�������3������� ��� �����%$&��ÿ��;ÿ#*
����ÿ����	� ��������������� 9 J#����� ����')������ÿ���������ÿ �� ���� ����� �	��ÿ �	��� - ��� ��ÿ�� ��� �	� 9
6 � �#�#�&: �	�  #��� ���!�	� 9-687�KMKMK&: � �  #��� ���-�	� 9!6 � �#�#�&: � � � * �(�03��� ����-�	� 9-687�KMK#�&: �
 ������1�����ÿ ��ÿ�� G.����� 687�KMKML&: ��ÿ�� G �
 ��� �	� 9!6
7
KMK���:+9
� ����� ýcö×÷	��ø�ýcù9ø�

�Vù�ýcö×÷����9ø���ú�ý����
6 � � ��1���ÿ /!�%�� � ��������' ������������� �����;ÿ �	' �� �� ��ÿ&�����������8* � �	��ÿ&��� ���������	�+ ���
�����%$&� 687�9%7�7;:+9 6 � ����')��� ��������ÿ�������� ��� ��ÿ��=J# ���ÿ�ÿ�� 687�KMKMK&: ')���2����� �	����� 9
- ������ÿ�1 ���4�	� 3 $ �	���4�	�������

w
�
p
�
g
��ÿ��

t
� 687�9%7�7;: � �����������

����ÿ���� �!'��
F (x) ≡

1

2

m∑

j=1

(fj (x))2

�����#"
����� ���
h(x) − w = b,

h(x) + p = b + r,

x − g = l,

x + t = u, 6 � 9%7;:
w, p, g, t ≥ 0.

#  ���ÿ��;ÿ�ÿ���1�� ���%$#�%�B ���;ÿ��
�����	��ÿ&��� �	���
�� ���ÿ ������� �"ÿ�� �����.�1 .��ÿ��������3����� ����ÿ�1
�� ���� ��ÿ ����1&�	��� �� ����%�.���	���������-��������� ��ÿ,�� �� ��� "
�������%$�� ')��ÿ��������;ÿ5��������ÿ��
')���8*



L �������	�
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����������
�	�����
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�	�����

����ÿ�1 6 � 9%70: ��ÿ&���
����ÿ���� �!'��

bµ(x,w, p, g, t)�����#"
����� ���
h(x) − w = b; h(x) + p = b + r; x − g = l; x + t = u,

6 � 9 � :/! ������.�� �� ��� "
�������%$��.')��ÿ��������;ÿ

bµ(x,w, p, g, t) = F (x) − µ

m∑

j=1

ln (wj) − µ

m∑

j=1

ln (pj) − µ

n∑

i=1

ln (gi)

−µ

n∑

i=1

ln (ti)

��� �� �� ���4�	���������	� ����1&�	��� �� ����%�����	��������� ')��ÿ��������;ÿ 6  �4�	����� ��ÿ�� @ � � ��������� 3
687�KMK#�&:�: /!�%�� µ

��� �����%���%$�� ���	���	��������� 9 C �	���.�� �� ����/ � ���������  ���$�� ��ÿ&����� *
��������� �� �� ����������� � �	��ÿ���� �������������! ,��ÿ ���	���������!����������� ��� � �� �� ����������ÿ������
�	�������&�	�  � �03������� �� N �	������ #*BN.�� �ÿ#* # ��� 3	��� 6 N.N # : ���;ÿ����%�����;ÿ�� ���	������� ���/!���%��� 9� ����� �� �� � �	1�����ÿ�1��4��ÿ ')��ÿ��������;ÿ ')���-������������� 6 � 9 � :
L(x,w, p, g, t, v, q, z, s) = bµ(x,w, p, g, t) − vT (h(x) − w − b)

−qT (r + b − h(x) − p) − zT (x − g − l)

−sT (u − x − t) ,

/ � � �� ������������� �� �� �
� ��ÿ����	��� ������� �	� * �����	� �� #�
�����
∇F (x) −∇h(x)T y − z + s = 0,

y + q − v = 0,

−µe1 + WV e1 = 0,

−µe1 + PQe1 = 0,

−µe2 + GZe2 = 0, 6 � 9 7&:
−µe2 + TSe2 = 0,

h(x) − w − b = 0,

w + p − r = 0,

x − g − l = 0,

x + t − u = 0,
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 � K

/! ������
V = diag(v1, . . . , vm)

�
Q = diag(q1, . . . , qm)

�
Z = diag(z1, . . . ,

zn)
�
S = diag(s1, . . . , sn)

�
W = diag(w1, . . . , wm)

�
G = diag(g1, . . . , gn)

�
P = diag(p1, . . . , pm)

�
T = diag(t1, . . . , tn)

�
e1 = (1, 1, . . . , 1)T

��ÿ��
e2 = (1, 1, . . . , 1)T

�	���
m

��ÿ��
n
$������������ ������� �������%$����! ��

∇h(x)
���!�� �� 4��;*

�������4��ÿ � � �����5+ �	'(�� �� ���;ÿ��
�����	��ÿ&���
h(x)

��ÿ��
y = v − q 9:#  �� $����
� � /(�������� �����;ÿ��-���)$�ÿ��.�� ��.���;ÿ����%�����;ÿ�� �	' �����	� ')���	����������� �  ����� ��aÿ��,+#�!')�����(�������;*

�����;ÿ�� �	��� �� �� ����������������ÿ&� �	���%�  ,���;ÿ����%�����;ÿ�� ��ÿ�� �� �� �4�	�
� ')����� ������� �����;ÿ��
���)$�ÿ�� �� �� ������� �	� ')���	����������� �  9

6  ���ÿ �	�����! #��ÿ�1 C ��/-���;ÿ�� � ������ ����,������� � �	��ÿ �� �� ������� �����;ÿ ')��� 6 � 9 7&: ��� �� ���������%����ÿ�1 �� #�
����� ���Zÿ��	� �� #�������������	� ��� � �%�,����ÿ � � �� #�����+� ��� '����
1��%$#��ÿ�1��




−T−1S 0 0 0 0 0 0 0 −I 0

0 −G−1Z 0 0 0 0 0 −I 0 0

0 0 −P−1Q 0 0 0 −I 0 0 0

0 0 0 0 0 −I −I 0 0 I

0 0 0 0 −H ∇hT
0 I −I 0

0 0 0 −I ∇h 0 0 0 0 0

0 0 −I −I 0 0 0 0 0 0

0 −I 0 0 I 0 0 0 0 0

−I 0 0 0 −I 0 0 0 0 0

0 0 0 I 0 0 0 0 0 V −1W




4 = a

6 � 9 8�:/! ��������� ���$������������
4

��ÿ��
a
�	����1��%$���ÿ �* 

(4t,4g,4p,4w,4x,4y,4q,
4z,4s,4v)

��ÿ��
(−γs,−γz,−γq, β, σ, ρ,−α, υ,−τ, γw)

������� �������%$����! ��

H ≡ ∇2
xxL(x, y) = J(x)T J(x) +

m∑

j=1

fj (x)∇2fj (x) −
m∑

j=1

yj∇
2hj(x),

6 � 9,+�:��ÿ��
γs = µT−1e2 − s

γz = µG−1e2 − z

γq = µP−1e1 − q

β = y + q − v

σ = ∇F (x) −∇h(x)T y − z + s



7�� �������	�
�	����
����������
�	�����
�������������	�
�	�����

ρ = w + b − h(x)

α = r − w − p

υ = l − x + g

τ = u − x − t

γw = µV −1e1 − w.

C �	��� �� �� �
ρ
�
α
�
υ
��ÿ��

τ
�����	������� 'x)��2�^��5×�+� / �
����� , �+5��+� - ��ÿ��

β
��ÿ��

σ
�����	������� 	0/���5×�+� / �
����� , �+5��+� - 9 #  �� �� #���������� �	'-�� ���� �� #�
����� ����1�1����
���

� �� #�
����� � ����� �����#�������2�	'!���������"ÿ�� ���%�;ÿ /! ����  ������ÿ�1�� ��� ��� �� �� ��� * ���	�������
������������� N.N # �� #�
����� )

[
− (H + D) ∇h(x)T

∇h(x) E

] [
4x
4y

]
=

[
σ − ZG−1υ̂ − ST−1τ̂

ρ − E
(
β̂ − QP−1α̂

)
]

,

/! ������
E =

(
V W−1 + QP−1

)
−1

D = ZG−1 + ST−1

��ÿ��
β̂ = β − V W−1γw

α̂ = α − PQ−1γq

υ̂ = υ + GZ−1γz

τ̂ = τ − TS−1γs.

% ÿ������� ����������������2�� #�
�����  ��	� �3����ÿ ���	�%$&��� ')���
4x

��ÿ��
4y

� �� ����	�� ����
4

$ �	���4�	�������(�� �� �-/(����� ���������"ÿ�� �����,�	���.��������� ����� ����� �1 

4w = −E
(
β̂ − QP−1α̂ + 4y

)

4q = P−1Q (4w − α̂)

4z = G−1Z (υ̂ −4x)

4s = T−1S (4x − τ̂)

4t = TS−1 (γs −4s)
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4g = GZ−1 (γz −4z)

4p = PQ−1 (γq −4q)

4v = V W−1 (γw −4w) .

� ���
N = H + D + ∇h(x)T E−1∇h(x) 6 � 9 �&:����ÿ��	��� �� �� �����	��ÿ������ �	�5� � �����5+ 9

�������
	��
� ��� ��� -��4�2�J�+5"��)9��� ,�� � �$)
��� $��+�Ý3����x	���) , ���4���x	T� � �����z�:-1$�7�7�7�1 1� / 8 ���:�x���E���+�E!0/E5"��)
7�� � ���O� - �������i-��E6 ��1 � ���Y� /E���'8�/��a���$5 /E�����$�x6
� )
��� / 6 #  ���������� +#9%7 ��ÿ � ���
� � 6 � �#� � :+9

 ����� ��ÿ ��ÿ��%�����	� � ����ÿ&�
(x1, w1, p1, g1, t1, y1, q1, z1, s1, v1)

� �� �� �	��1�� *
���%�� �� �� ���ÿ �����#��������� �%������� ���%$&���! � �-')�������0/!�*)

xk+1 = xk + αk4xk, yk+1 = yk + αk4yk,
wk+1 = wk + αk4wk, qk+1 = qk + αk4qk,
pk+1 = pk + αk4pk, zk+1 = zk + αk4zk,
gk+1 = gk + αk4gk, sk+1 = sk + αk4sk,
tk+1 = tk + αk4tk, vk+1 = vk + αk4vk,

6 � 9,��:

������ÿ�1,�� �� �����	���  ���������������;ÿ��.������������� ��� �	�3�;$��	� /! ������
αk

1��%$����.�� �� �
�����
����ÿ�1	�� ��ÿ��

k
���(�� �� �%������� ������ÿ ������ÿ&����� 9

��� � ����� � ��	������	��
��
���#��


#  ��2������� �	'�� �������%� ')��ÿ��������;ÿ ��� ��� ��ÿ�������� �� �� � "
����ÿ&� ������1��������.��� � �	���
� �	�� ���0/(�	��� � ���#���	������ÿ���� �!'�������ÿ�� ���0/(�	��� ')���	����������� �  9 #  �� �
����� ����ÿ�1	�� 
αk

��ÿ 6 � 9,��: �� ��������2�3�-�  �������ÿ2��� ��ÿ��������-�� �� � �� ��(�����	�,3 ��ÿ�� �� ��(�����	�#$ �	��� *
�	������� �	��� � �	��ÿ&� �	�"ÿ����,� �����%���%$�� ��ÿ��,�� �� � ��ÿ �	�������������4�;� �.�������%�-')��ÿ��������;ÿ
���-������������� 9 #  �� �  �������ÿ �������%�(')��ÿ��+� �%�;ÿ,��� �� ��.� ��ÿ��	�%�  ')��ÿ��������;ÿ �
�����������
�*  �4�	����� ��ÿ�� @ � � ��������� 3 687�KMK#�&: �#/! ����+ , ��	�-�� ��.')�����
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Ψβ, µ (x,w, p, g, t) = bµ(x,w, p, g, t) +
β

2
‖ρ (x,w)‖2

2 +
β

2
‖α (w, p)‖2

2

+
β

2
‖υ (x, g)‖2

2 +
β

2
‖τ (x, t)‖2

2 6 � 9 L&:
/! ���ÿ �	����������� ��� ������������� 6 � 9 � : �&/! ������ β ≥ 0

��� �� �� � ��ÿ��	�%�B ���	���	���������
.þ�ÿ �����	���������	� �� ����+ ����%��� �	'!��ÿ

αmax

��� ��ÿ�������� �� ���� �����%���%$#�%�  �	'(�� ��
���4�	� 3 ��ÿ�� �� �� �����	� $	�	���4�	������� ������ÿ�� �� �� ���!')���

4wj < 0
�
4pj < 0

�
4gi < 0

�
4ti < 0

�
4yj < 0

�
4qj < 0

�
4zi < 0

�
4si < 0

�
4vj < 0

αmax = min

{
1, 0.95 min

(
−

wj

4wj

,−
pj

4pj

,−
gi

4gi

,−
ti
4ti

,−
yj

4yj

,

−
qj

4qj

,−
zi

4zi

,−
sj

4sj

,−
vj

4vj

)}

/!�%�� 
i = 1, . . . , n

��ÿ��
j = 1, . . . ,m 9 #  �� ��ÿ������
$ �	�

(0, αmax]
��� �� ���ÿ

�����	���  ���� �* ,���	� 3&��� � �,3���ÿ�1���')��� ��ÿ
αk

�� �� � �����#��������� �����������������;ÿ ��ÿ,�� ��
')��ÿ��������;ÿ

Ψβ, µ

��������ÿ�1 �������%�(')��ÿ��������;ÿ,��$	�	����� �����;ÿ��(�;ÿ��! 9
���?� � ����� � �=� � �����

β ��� 	 � � � � ��	

#  ��
')�������0/!��ÿ�1��� ���������� �� ��0/!���	�	���;ÿ�1-�	�� ���� �  ��"ÿ�1����0�� �� � ')�	� �4�	��1�� ��ÿ�����1� 
$ �	������� �	'

β
� �� �� �����	���  ���������������;ÿ����
������������� �;ÿ�����ÿ�1 ��� �� �� ���������	� $	�	��� *

�	���������	' 6 � 9 � : �-���)$�ÿ���� �1 6 � 9 8�: �	��� ����������ÿ&�,���������������;ÿ�� ')��� �� �� �������%�
')��ÿ��������;ÿ 6 � 9 L&: /! ���ÿ���$���� �� �� ������������� ���-�
�����������! ���;ÿ&$��,+ 9
�������
	��
� ���?��� -��4�2�J�+5"��)Ú��� ,�� � �$)
��� �a�+�Ý3����x	���) , ���4���x	T� � �����z�:-1$�7�7�7�1 1� /�'�'������=� � ����� � �T	0/���5E�z�$)0�^��5
�^����)��+*�8d-��E6#@ 1����('������+���+���j	��'&9���+���v6 ,�� ���`7� � �a���
��)
� � 	��+)
� �������$�`� � �����?� � � / �$5+5�� 39�+�E!�'x)
� '���)������ ���

$�6j� /
ρ = 0, α = 0, υ = 0

���x	
τ = 0,

� � ���



∇xbµ

∇wbµ

∇pbµ

∇gbµ

∇tbµ




T 


4x
4w
4p
4g
4t



≤ 0.
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βmin ≥ 0
�)/�� � � � ���+7 / �$)Y������) -

β > βmin,




∇xΨβ, µ

∇wΨβ, µ

∇pΨβ, µ

∇gΨβ, µ

∇tΨβ, µ




T 


4x
4w
4p
4g
4t



≤ 0.

��� , �$� � �
����� � 7X�98�/���5��+� - � �$5"	��O� / ���x	 �$��5 - � /
(x,w, p, g, t)

�v�������'&=� �-
2.3

1 / �$)���� �X�
(y, q, z, s, v).

� )
��� / 6 #  ���������� +#9 � ��ÿ � ���
� � 6 � �#� � :+9
þ�ÿ �����	���������	�

β
���!��ÿ��%���4� �%�!'����,��� � ��ÿ�� ���!��ÿ��  ���ÿ�1���� �	� ���;ÿ�1��	� 6 4x

�
4w

�
4p

�
4g

�
4t : ��� � ����������ÿ&�2���������������;ÿ ')���

Ψβ, µ.
6  ���ÿ 6 4x

�
4w

�
4p

�
4g

�
4t : ' �	����� �	� �,����������ÿ��2���������������;ÿ5� �� ���ÿ

β
��� ���	�������4� ����� ������ÿ�1

β = 10βmin 9
� ������ù9ø�ý�÷	��� � ù2ú�ý���ü �Ú÷`ýcù�ö��	� ù9øXö�ù�ö�üzù�ö�
 �
�èù �0÷`ý � ý�� � 


÷`ýcù�ö

 ��� ���;ÿ&$&�,+ ��� �������!'�� ���%�;ÿ5� �� �� �����,�	'!�� �� ������� � ')��ÿ��������;ÿ �������������3��� ��ÿ
�� �� J#���������������;ÿ � 9%7 ��� 1�������� �� ��,���������������;ÿ �	'.� �
����� ����ÿ�1	��  #��������� ��ÿ
�)(�������ÿ�� ��ÿ�� ���������
� �	�%1������%�� �� 9.< �0/ ��$&����� ')����ÿ��;ÿ����;ÿ&$&�,+ ��� �������!'�� ���%�;ÿ
�������������������� �� � � �����5+

N 6 � 9 �&: � �
 ' �	���5����� � �3�����%���%$&� ���)$�ÿ��%��� 9 þ�ÿ,�� ����
�����������;ÿ5� / ��������������� � �� ����	��1������%�� �� �  ���ÿ�1���� �� �� �./(� � �	���2��� �	�����������
�� ����!��������� 9

#  ���������� � 9 � �� ��0/!� �� �� � �� ������������������;ÿ
(4x,4w,4p,4g,4t)

 ��	�
�����������	����������������ÿ&� �������3���
������� ')��� � � �  �� ������	���������5')��ÿ��������;ÿ ��ÿ�� �� ����������%�
')��ÿ��������;ÿ �����0$#������� �� �� �

N
��� � �����%���%$��2���)$�ÿ��%��� 9 6  ���ÿ

N
���.��ÿ����)$�ÿ��%���	�

�� ��-�	��1������%�� �� ���%1� �� ���;ÿ&$�����1��(���.� � ����ÿ&� /! ����  2���.ÿ��	� � ���#���	������ÿ���� ��� 9
 ��� �� �� �3�����%���%$&�����)$�ÿ�� � ��ÿ������2�	'(�� �� �����	�×ÿ������ �	��� �;� ��� + � /(�Xÿ������

��� 1����	����ÿ&�����.�� �� �
H

���(� �����%���%$��.���)$�ÿ��%���	� ��� � � �	����� ���2��ÿ�������� �� �� �-�� ��
���������������;ÿ 6 4x,4w,4p,4g,4t : ��� �,����������ÿ&� ���������������;ÿ ')���

Ψβ, µ 9  ���
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������������������� 6 �������	��� 6 � 9,+�:�: ���� ���4��	�������4��ÿ � � �����5+
J(x)

����ÿ �3� ��������� �����
��ÿ��	�! ��������	�%�5 ���.ÿ��������������	���! ��ÿ2� �,+ � �����%���(')����� ��ÿ�� �� �� �������

J(x)T J(x)�	'
H

��� ��$	�	���4�	���%� � � ��ÿ �	������� � �	����� �����
� ��ÿ�� ���!�3�����%���%$&�.���)$�ÿ��%��� �%'
J(x)��� ')�����#� �$ÿ 3 9�% �����	��� ��� ��� ���������	��� �� ��-���	�������4� ���%�;ÿ �	'3�� ��-�������;ÿ����������%$ �;*

���%$���� �	' �� �� �������������	�5')��ÿ��������;ÿ�� ��ÿ�� �	' �� �� ���;ÿ��
�����	��ÿ&�!')��ÿ��������;ÿ���� ��ÿ�� � �
���	��� ����� � ��� 1����	����ÿ&����� �� �� �-�� ��

H
� � �����5+ ���!�	�������
+ ��� � ����� �1 ,�2�3���8*

�%���%$�� ���)$�ÿ��%��� � � �����5+ 9 J#��ÿ���� ��ÿ ��ÿ ��ÿ����;ÿ��
�����	��ÿ���� �����	�
� �������	����� ���;ÿ&���,+#�
6�� ���
� �2��ÿ��  ���*ÿ���ÿ������ 6 � �#�M7&:�: ��/ �. ���$&� �������������,� /(� ' �	��������� '���� �����	��� *
C ��/-���;ÿ ')����� ���4�	� ��ÿ�� �� ��)  ���$��2�����0$���� ��� � � $����� �������������
')��� �5/ � ���� ÿ��0/ ��� �,+#����ÿ����� ���� ��� �� ���� ���	��� �	� /(���%� 9 J#����������ÿ�1 �.�����������	� �	��1�������ÿ&���
�� �� �������;ÿ�� ��������� ��������� �	'

H
�	���,��� � � �	�������
+ ��� � ����� �1 � � �����%���%$��

���)$�ÿ��%���.� � �����5+ 9
% ��� ������� �����	�����;ÿ������������ � ' �	��������� '���� �����	��� *BC ��/-���;ÿ �	�������
+ ��� � ���%�;ÿ

�	' �� ��.')�����
LT L

���2�� �� �4�	�
�-� /(�2���������!�	'
H 9 J#����� � ���	�  �%������� �����;ÿ

k
�

Hk ≈ J(xk)
T J(xk) + LT

k Lk.

#  ������ ��� ����� ')��� Lk 6 ����� 687�9,+	:�: �� �� � ���������%� ')����� �� ����
����� ')����� �%������� ���
k
��� �%������� ���

k+1
/!����� � �03	�-����� �	'3�� ��-$��������������

sk

�
zk

�
wk

��ÿ��
vk,

/! ����  
�	���.���)$�ÿ���� �	�-')�������0/!�*)

zk = yk���
zk = vk + J(xk+1)

T J(xk+1)sk/! ������
yk

��ÿ��
vk

�	���?ÿ��0/ 1��%$���ÿ �1 
yk = ∇F (xk+1) −∇h(xk+1)

T yk+1 −∇F (xk) + ∇h(xk)
T yk − zk+1

+zk + sk+1 − sk

vk =
(
J(xk+1)

T − J(xk)
T
)
f(xk+1) −

(
∇h(xk+1)

T −∇h(xk)
T
)
yk+1.
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�B����� � �����5��
 � 7 +

#  ��.$&��������� vk

���������-���	�����! ')�����

LT
k+1Lk+1sk =

[
m∑

j=1

fj (xk+1)∇
2fj (xk+1) −

m∑

i=1

yi,k+1∇
2hi(xk+1)

]
sk

∼=

m∑

j=1

fj (xk+1) [∇fj (xk+1) −∇fj (xk)]

−

m∑

i=1

yi,k+1 [∇hi(xk+1) −∇hi(xk)]

=
(
JT

k+1 − JT
k

)
fk+1 −

(
∇hT

k+1 −∇hT
k

)
yk+1 = vk.

þ '
∇2

xxL
����ÿ��	� � �����%���%$�� ���)$�ÿ��%���	� �� ��2���;ÿ����%�����;ÿ

sT
k wk > 0

� �� Oÿ��	�
 ������ /! ���ÿ

sk

��ÿ��
wk

�	�������)$�ÿ����2�1 687�9 �&: ��ÿ�� 687�9,��: � ��$���ÿ /! ���ÿ �� ����%�����8*
� �����
�	����������������� �� ���������� �����;ÿ 9 # � �;$��������������� ���� ���!(������%�  ��;/! ���ÿ���$&��� �� ��
���;ÿ����%�����;ÿ

sT
k wk > 0

' �	������� / �-������� ∣∣sT
k wk

∣∣ ��ÿ��
�����	� 9 - ���$� '�'x�+�E! �
����� ����10 
��� �	�����.��ÿ������������5�	/! ���ÿ���$&��� �� ��-�����	�4�	��� �� �� ���	��� ���	� ��ÿ �� ��-����ÿ�������ÿ�� �������
�	' �� �� ��� ��� �����(� �����	��� ���#� ��� �	��� �&� 9 � 9 �#/ � ��� ���$� ' �� �� ��� ��� ��� ')����� ���4�	�
�%'

sT
k wk > γ

��ÿ���� ���
sT

k AT
k Aksk > γ�	���?ÿ��	�!��� ������$����5��/! ������

γ
���!�2� �����%���%$��.���	���	��������� 687�� −12

��� �
 :+9þ�ÿ�� �	� � �� �� �+�,��ÿ���� �	� � 687�KMK#�&: � �	���;ÿ�1,�	�� ���� �� ���ÿ�1���� �� �� �	� �� ������
�����;$����������	�&��ÿ�� ����� ��������ÿ����	� ���;ÿ&$&����1���ÿ������	'��-������� �	� * �����	�!��ÿ&�����������8* � ���"ÿ&�
������ ��#� ')��� ���;ÿ��
�����	��ÿ���� ��� �������!'�� ���%�;ÿ5� /! ���ÿ � �����	��� *BC ��/-���;ÿ �	�������
+ � *
� � �����;ÿ ��� ������� ��� �	�������
+ ��� � ��� �� �� < �������4��ÿ �	' �� �� � �	1�����ÿ�1	�4��ÿ ��ÿ��
� ����ÿ�1���� �
����� ��� '�� ������� ��� ����������� ��ÿ&� ��� ')��� �� �� ������� �	� ��ÿ�� �� �� �����	�
$	�	���4�	������� 9 � ����������� �� �� ���;ÿ����%�����;ÿ����;ÿ��� �� ���#"
�������%$�� ')��ÿ��������;ÿ5�����;ÿ��
�����	��ÿ��
')��ÿ��������;ÿ���� ���	��������� ���	���	��������� ��ÿ�� �;ÿ �� ������	���	��������� ��ÿ �� ����
����� ��� '����������	�
��� �����0$&� �����3��������ÿ����	� ���;ÿ&$�����1���ÿ����(�� ��) �	����� �	������������ �� � �� �� ����������ÿ����-�	'
�����	��� *BC ��/-���;ÿ2���3��� �����
��� ������$���� �� �� � �	��ÿ������2����������������� �����;ÿ ������� ���
�  9 þ�ÿ
�����
$#����/ �&�� �� �$ÿ��	�! #����� ����ÿ � �!�,+#����ÿ����������.�����
' �	��������� '���� �����	��� *BC ��/-���;ÿ
��� ��� ����� �	� ���;ÿ�1 �	� / � �	��� �	����� ��� �����0$&�,�� �� � ����ÿ������ ����������������� �����;ÿ
������� ���
�  �	'��� ��2����������ÿ����

{Bk}
/!�%�� ������� ����� ���

∇2
xxL(x∗, y∗) 9�#  ����.���ÿ��;/ ��ÿ������!��ÿ&$&���
����1&�;� �%�;ÿ 9
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� � �z÷	��ý���� ù �
ý � � ��� � �<ö×÷	�Ú÷`ýcù�ö

#  ����������������;ÿ �����0$#������� �������%������ÿ&� � ���%�;ÿ ����� �	�������	'5�� �� �	��1������ �� �� �� �� ��/(�
 ���$�� ��������� ��ÿ�� �����
����� 9
� � � ����� � 
������ ��� � ��� 
��

þ�ÿ ��ÿ ��ÿ������������8* � ���"ÿ&� �������	� ��� �
� �	�
� �� �� �	��1������ �� �� / �Xÿ������ ��� �����0$#�����
��ÿ��%�����	��$ �	������� ')��� �	�������4�	� 3 ��ÿ�� �����	��$ �	���4�	������� 9 þ �
��� ����� ���
� ��ÿ&� ��� �����0$#�����
�� �������$ �	������� ��� ��� �����
'  � � �����	�
� ���������	' �� ���������� �����;ÿ�� 9 J#���������	���5 ���!/! �� �
���!���;ÿ�� ��ÿ ����ÿ�������� ��� 687�KMKML&: ���� �� �	��1������%�� �� ��ÿ�� � ���	�%�!'����(�� �� $	�	���4�	�������!�	�
')�����%�0/!� 9$ �����
��� 1�� $#��ÿ�1 ���
� �	�
����ÿ�1 � ����ÿ&�

x0

�	'
�� �� ������������� �
x
��ÿ��

y
�	���

')����ÿ�� �	�!������� �����;ÿ��(���2�� ��.')�����%�0/!��ÿ�1 �� #������� )
[

−
(
JT J + I

)
∇hT

∇h I

] [
x
y

]
=

[
c
b

]

/! ������
J
�$ÿ��

∇h
�	��� ��������� ����� � �

x0

��ÿ��
c = ∇F (0).

þ�ÿ �����	��������� � �%'
∇F

���2ÿ��	�!���)$�ÿ���� � �-�� ��.� ����ÿ&�
0
/(�.�����

x = x0

��ÿ��
y = 1 9�#  �� �	�� ����$ �	���4�	�������!�	���.����� �	�(')�������0/!�*)

g = max (abs(x − l), θ)

z = max((abs(x), θ)

t = max (abs(u − x), θ)

s = max(abs(x), θ)

w = max (abs (h(x) − b) , θ)

p = max (abs(r − w), θ)

q = max (abs(y), θ)

v = max(abs(y), θ),/! ������
max 6 : ��ÿ�� abs 6 : ����ÿ��	���!�������3�;ÿ���ÿ&�8/!�����-� � + ���2��� ��ÿ�� �	�������%� � �

$ �	�����	��������� �������%$����! 9 #  �� ���	���	���������
θ
���(������� ���21����	����ÿ������ �� �� � �	��� �� ��

$ �	���4�	������� ���;ÿ��
�����	��ÿ���� ��� � �×ÿ��;ÿ�ÿ���1&� ���%$�� �	��� � � �����	�
� �	� �4�	��1����	�
θ 9 θ = 1 ��	�!�����0$���� ��� � � �21����#�,�  �������� 9
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#  �� �
����������ÿ�1 ������� ������� ��ÿ �� �� �	��1������%�� �� ���;ÿ������������ � �	�� ������� �	�(��ÿ��
�����	�5')���	����������� ���%��� 9F#  �� ����$���� �	' ������� �	� ��ÿ ')���	���������%� �  ���-�����	��������� �* 

'x)��2�^��5×�+� / 6
=

√
‖ρ‖2 + ‖τ‖2 + ‖α‖2 + ‖υ‖2

‖b‖ + 1
,

��ÿ��,�� �� �����	� ��ÿ ')���	���������%� �  �1 

	0/���5<�+� / 6
=

√
‖σ‖2 + ‖β‖2

‖c‖ + 1
.

- ������� �����;ÿ ��� �������4�	����� �����%� �	� � �����	� ')���	��������� �%'(�� ������,� ���	��������� �	���
������� �� ���ÿ

10−6 6 ����ÿ�������� ���
��ÿ��%J# ���ÿ�ÿ�� 687�KMKMK&:�:+9 þ�ÿ �����	���������	� �%'
∇F

���ÿ��	� ���)$�ÿ���� � �-�� �� � ����ÿ&�
0
/ � �����

c = 0.

� ��� ������� � 	�	��#��	 ��� 	 � � � � ��	

#  �� �����	���%�  �����	�������.���	���	���������
µ
�	' �� ��.��� "
�������%$��.')��ÿ��������;ÿ ��ÿ 6 � 9 � : ������������ �����5�3� �!���	�+ �%������� �����;ÿ5� �1 

µ = γ(zT g + vT w + sT t + pT q)/(2m + 2n)

/! ������
γ
�%�(� �����	��� ' �	������� 6 0 ≤ γ < 1 : , /!�%�� ����' �	���%��$	�	�%��� �������	��� ��� � 9%7�96 � ����')���-��� ����ÿ�������� ��� 687�KMKML&: ')���-����� �	����� 9

� � � � � 
	� � � 
�� � 
�
 
������#�
�

þ�ÿ ����� ������������� ')����� ���4� ���%�;ÿ 687�9%7�7;: �� ���$	�	���4� �������  ���$����8/ � ��������� � ����ÿ���� 9� � �
��ÿ �����	� * /(������� ��������������� / � � �
  ���$&� ��������$ �	���4�	������� /!�%�� � / � * ���������
� ����ÿ������&�	�� ������ /!�%�� �;ÿ��! �;ÿ��+* ��������� � ����ÿ���� 6 ���%�� ���� ����� ���
��� ���0/ ��� : ��ÿ�� &���.�	�� ������ /!�%�� ���� � � ����ÿ���� 6 ��� * ���	������� / )
� �Y�$��)���� , 5�� � :+9�@ ��������ÿ�1 � ����ÿ����
�	���  ���ÿ�������� �	� ')�������0/!� 9 6 � ���������! ,��� �%� �� �� ���4�	�,3 $	�	���4�	����� �	�����#���4� �����
/!�%�� ,�� �� ����������ÿ�1 � ����ÿ�� �	�-/ ����� �	�(�� �� ������������� �;ÿ�����ÿ�1������	� $	�	���4�	����� 9
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þ ' �  ��
x
$	�	���4�	������� �	��� / )
� � ���� �� �����  �ÿ�������� �������4�	����� ���	�  �;ÿ�� /!�%�� 

�� �� ���!" ������ÿ���� �	'��8/ �bÿ��;ÿ�ÿ���1&� ���%$��2$ �	���4�	���������5/! ����+ ������ÿ�� �	������ÿ�1 �� ��
���;ÿ��
�����	��ÿ&���

x − g + t = 0, g, t ≥ 0
���2�� �� ������������� 9þ ' / �. ���$&� � �������.��ÿ��������	���%�  ����;ÿ��
�����	��ÿ&���#/! ����+ ������ÿ�� �� �� �(�� ��

i
* �� 

���;ÿ��
�����	��ÿ&�. ��	� ��ÿ	$�ÿ��%��� ����ÿ�1��	� �� ���ÿ / �2������$&� ��� � �� �� ���4�	�,3,$ �	���4�	�����
pi,�	���������4� ����� /!�%�� �� ���� ���;ÿ��
�����	��ÿ&���
��ÿ�� �� ���������������� �;ÿ�����ÿ�1 �����	� $	�	���4�	�����

qi 9
� �Qù�� ��ûT÷	�Ú÷`ýcù�ö�� � �
� � ��ø�ý � �<ö=÷ �

# � ���������	��� ����� ' �	��������� '���� ')����� ���4�	� 6�#  #�3�(� ��ÿ�� #  #� � -.: /!�%�� �� ��
�  G J&* ���!3	�.')�����2���4� �	' � �	� � ��ÿ�� # �03 �	 ��	�� �� 687�KMK 7;: ��ÿ �� ����!������� �	� * �����	�
��ÿ&�����������8* �3���"ÿ�� ')���	����/ ����3 / ����������������� 7 � �%���	�
� �������	����� ���;ÿ��
�����	��ÿ���� �������#*������� ')����� < �#� 3 ��ÿ��=J#�  ��%����3��0/!��3�� 687�KML 7;: �����������������;ÿ 6�< J :+9 #  ��,�����
���
/ ����� ���;ÿ�� ��ÿ ����������� ���������������;ÿ �	���%�� ����������./!�%�� ��� ��ÿ&������� þ*þ!��ÿ��  ���8*������ÿ K#� 6 �<þBC���� :+9 #  �� ��ÿ��%���4� � � � �����5+

L1

��� � �%/-�
 #�!�����!���
[10−4I| 0]

T 9
6 � ����������ÿ&����ÿ # �	����� 7 ������� �������	�2�	� ��� � �� �� � ���
')����� ��ÿ���� �	'!�� ��

' �	��������� '����������	��� *BC �+/-���;ÿ ��� ��� ����� #  #� � - ��ÿ�� �  G J �	1&�	��ÿ��
� �� �� #  #� �� ')����� ���4� � ������ÿ�1 - � * �(���	�%� ������� 687�KMK 7;:+9A#  �� �3���
')����� ��ÿ���� �	' �� ������
' �	��������� '���� ')����� ���4�	�2��� �����	��������� �* ��������� ����ÿ�1,�� ��^ÿ����2�3����� 6�# þ � &Tþ : �
6�#� � � &  ��: ��ÿ�� #� 9�#  ������Jÿ#��� � ����� �	��� �����4� ����� ��� �� �� ���	� �	�rÿ����2�3���
�	' �%������� �����;ÿ�� 6�# þ : �
���	� �	�2ÿ#��� �3��� �	' �������%�2')��ÿ��������;ÿ ��$ �	��� �����;ÿ�� 6�#� ��:��ÿ�� ' �	���%������� 6�#� : ��������������� ���2�����%$�� �� �� �����!�	' ��������������� 9F- $	�	�%��� �	' &Tþ
6 ����������� ���5 �')��� &  ��: 1��%$����-�� �� �0$������	1�� �	' N = 7 � ��� �������(�	' �� ��.')�����

ri =





C2,i

C1,i

�%'
C2,i ≤ C1,i

2 −
C1,i

C2,i

�%'
C2,i > C1,i

/! ������
C1,i

��ÿ��
C2,i

� ')���
i = 1, 2, . . . , N

� ����ÿ��	���2�� �� �����
��� ��������������� ���
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i
�1 2� / � ������ ��#��� 687 ��ÿ�� � ��������� �������%$����! :+9 þ ����ÿ�������������� ���

��������������� ��$���ÿ �%' �� ��) ' � ��� 9 ri

���(�������	� ��� 7 /! ���ÿ,�� �� � /(�2������ ������(' �	��� �
ri

���(�������	�5��� � �%' ������ ��#� 7 ' �	�����(��ÿ�� ri

���(�������	�5��� � �%' ������ ��#� � ' �	����� 9
#  ������5�� �� &Tþ-��� �������!� �03�� �	��� 3���ÿ�� �	'
����������ÿ�� �����;ÿ ��ÿ&��� �	��������ÿ��.��ÿ��
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#  #�3� � 9
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&Tþ
)% 9 þ ' &Tþ

> 1
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100(
&Tþ

−1)%
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= 1
������ÿ�� �� �� � �� ���� /(�

������ ��#��� �	���.���������	���	����� ��� ���	�  �	�� ���� 9
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#  #�3� � �1 7�9 �(6 ��ÿ�� #  #� � � ���������;$���� �;$���� �  G J,�* 7�9 7 6 � �	� ' �	� �	�ÿ#��� � �����	' �%������� �����;ÿ����������;ÿ������*ÿ���� 9  ��� �� ���ÿ����2�3��� �	'5')��ÿ��������;ÿ���$	�	�����;*
�����;ÿ���� #  #� � � ')����� ���4� ���������;$���� �0$&��� #  #�3� - �1 � 9 L 6 ��ÿ�� �0$&��� �  G J�* 7 9 7 6 9 #  �� �4�	��1�� ���	� �	�rÿ����2�3��� �	' ')��ÿ��������;ÿ ��$	�	����� �����;ÿ�� ��������������� �* 
#  #�3� � ')�����2���4� ��������� ��� � ����ÿ�1����!���������%��� 9 #  �� �	� $	��ÿ&� �	1�� �	' �� ��������������� �� �� � �%� ���Vÿ��	� ����ÿ����%���%$&����� �4�	��1�� $ �	������� /! ����  � �� �#������� �"ÿ � $����� 
��� �	����ÿ���� � ���!�	' ���������������(��ÿ �� �� ����� 9
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6 ����ÿ�������� ��� ��ÿ�� J# ���ÿ�ÿ�� 687�KMKMK&: � J# ���ÿ�ÿ�� ��ÿ�� ����ÿ�������� ��� 6 � �"�#�&: ��ÿ��
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H
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Ĥ = H + λI
�
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� �%������� �����;ÿ ������ÿ���� �;ÿ �� �� 7 � < J ���������������
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n
��� �� ��Zÿ#��� �3���2�	'!$	�	���4�	�������2��ÿ��
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�����	��ÿ���� ����� ��� �� �� ������� ������ÿ&� �	'
')����� $ �	���4�	������� 9H#  ���%������� �����;ÿ ������ÿ&��� �	' �� �� ���������^ÿ � %�� % / ����� � �03	��ÿ ')����� � ��ÿ����;ÿ ���.�	� 9
6  ������ ) � �;/-/-/ 9 ������ÿ��������;ÿ 9 ������� ∼ �
$#��� � ��� ����7-� �	����� 9 � � ' : 6 ����� ����')������ÿ����82 7 4
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∗ � � � ∗ !1&
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� � � � � � )�þ ������� �����;ÿ ������ÿ����!�;ÿ < �#� 3�*�J#�+ ��%����3	�0/!��3�� ��������������� 9
��ÿ � ��ÿ����;ÿ ��� �	� 9!6 � �#�08�:�:+9

 ��� �� �� ��ÿ��%���4� �!�	��������+ ��� �;� �%�;ÿ����
x0

�(/ � ���;ÿ�������������� �� �� < �#� 3 ��ÿ��
J#�  ��%����3	�;/!��3�� 687�KML 7;: ������������ ���� $	�	������� �	�(/(����� 9
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� �����(')���	����/ ����3 �;ÿ �	�� ����(�� ������ ���������������(/!�%�� $ �	���4�	����� ��� '��
6 n 2 7#� � 7��#� � � �#�&: � �03	��ÿ ')����� �� �� � � # � �����������������;ÿ 6 � �;ÿ�1&�	�
��',��� � � 9
687�KMK�+�:�:+9 # �	����� 7 ����� ���
��� �� �� �%������� ������ÿ2������ÿ���� 9�#  ��Tÿ#��� � ��������ÿ2�� ��!�4�	�
�
���������^ÿ �	' �� ��.� �	����� / ����� ��� � �	��ÿ����,����ÿ�ÿ���ÿ�1'� %�� % � 8�9 � 7�9

- �!��ÿ � %�� % � �� �� �
����������ÿ�1 �������.��ÿ������������jÿ��0/ 'x)��2�^��5��+� / 6 ��ÿ�� 	0/���5�+� / 6
< 10−6

��ÿ�� L ����1��%��� � '!�	1�����������ÿ&� � ��� / ����ÿ �� ���������� �	� ��ÿ�� �����	�
���#"
�������%$�� ')��ÿ��������;ÿ�� 9  ����������� ����������������� �� ���������$���� �	' �	���������	�) /-�	�
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∗ 9%#  �� �%������� �����;ÿ ������ÿ&���2�� ��;/Tÿ ��ÿ �� �� � �	������� / �����,���#*
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����������ÿ�1 ������� 9�# �	����� 8 ���;ÿ#*
� �	��ÿ�� ����� �	����� �	'��� ��2�����4� + ��� ���	���	����������� 9 þ�ÿ �� �� � �	�����	� ���"!:&(! 1��%$���� �� ��ÿ���� � ��� �	'�����1��%��� �	'3�	1�����������ÿ&�
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�������%$&��')��ÿ��+*
�����;ÿ��!� ��� �	��ÿ����,� �!�� ��.���	��� �����;ÿ ')����ÿ�� 9
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< 10
−5 ���/(# � � � � %�� ��� ��� ��� * ���/���& � � � %�� ��� ��� ��� # � � ��� � ���	
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< 10
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n
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n
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